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B. LUYỆN ĐỀ THI
ĐỀ THI THỬ THPTQG - SỐ4
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1. 
A. expand
B. vacancy
C. applicant
D. category

Question 2. 
A. paradise
B. reliable
C. helpline
D. illiterate

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.
Question 3. 
A. require
B. consist
C. achieve
D. system

Question 4. 
A. medicine
B. graduate
C. interview
D. encourage

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 5. No one enjoys __________ in public.


A. being made fun of

B. to be made fun of


C. making fun of

D. to make fun of

Question 6. The box of disks for the computer __________ misplaced.


A. have
B. have been
C. has been
D. has

Question 7. __________, he received a big applause.


A. Finishing his presentation
B. His presentation has been finished


C. After he finishes his presentation
D. When finished his speech

Question 8. My younger brother had his hair __________ yesterday.


A. be cut
B. to be cut
C. cut
D. being cut

Question 9. Is there __________ for everyone?


A. food and drink enough

B. enough food and drink


C. enough of food and drink
D. enough food and drink enough

Question 10. The cup will be on __________ at the clubhouse for a month before being sent to the museum.


A. display
B. parade
C. exposition
D. stage

Question 11. __________ he arrived at the bus stop when the bus came.


A. Hardly had
B. No sooner had
C. No longer has
D. Not until had

Question 12. They are always on good __________ with their next-door neighbors.


A. will
B. friendship
C. terms
D. relations

Question 13. With this type of insurance, you’re buying __________ of mind.


A. peace
B. satisfaction
C. calmness
D. contentment

Question 14. Many applicants find a job interview __________ if they are not well-prepared for it.


A. impressive
B. stressful
C. threatening
D. time-consuming

Question 15. __________ 90% of Asia’s people live in the eastern and southern parts of the continent, which contain some of the most __________ regions in the world.


A. Most/dense-populated

B. Most/densely-populated


C. Almost/dense-populated
D. Almost/densely-populated

Question 16. Everybody thinks that the play last night was very successful, __________ ?


A. don’t they
B. doesn’t he
C. was it
D. wasn’t it

Question 17. Many ambulances took __________ injured to a nearby hospital.


A. an
B. a
C. the
D. Ø

Question 18. Don’t touch the cat. It may __________ you.


A. kick
B. tear
C. scream
D. scratch

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
Question 19. These boys are advised to concentrate on their studying.


A. remember
B. pay attention to 
C. be interested in 
D. resemble

Question 20. My two children were full of beans today, looking forward to their trip.


A. disappointed

B. hyperactive


C. melancholy

D. lively and in high spirits

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 21. She was so insubordinate that she lost her job within a week.


A. fresh
B. disobedient
C. obedient
D. understanding

Question 22. Although I persuaded my father to solve this very serious problem, he just made light of it.


A. completely ignored
B. treated as important
C. disagreed with
D. discovered by chance

Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes each of the following exchanges.
Question 23. Tim and Mark are university students. They are going on a field trip.

Tim: “What do we have to bring for the trip?”

Mark: “_______________”


A. What an interesting
book you have!
B. We’ll set off very early, you know.


C. All the coursebooks, of course. 
D. Well, don’t make a fuss.

Question 24. Wife: “The TV in our living room is broken.”

Husband: “________________”


A. But it’s big

B. We have to pay extra money.


C. But it’s small

D. We’ll get it fixed

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 25 to 29.

Always arrive early. If you do not know (25) _____________ the organization is located, call for exact directions (26) _____________ advance. Leave some extra time for any traffic, parking, or unexpected events. If you are running late, call right away and let someone know. The best time to arrive is approximately 5-10 minutes early. Give yourself the time to read your resume one more time, to catch your breath, and to be ready for the interview. Once you are at the office, treat everyone you encounter with respect. Be (27) _____________ to everyone as soon as you walk in the door.

Wear a professional business suit. This point should be emphasized enough. First (28) _____________ are extremely important in the interview process. Women should (29) _____________ wearing too much jewelry or make up. Men should avoid flashy suits or wearing too much perfume. It is also important that you feel comfortable. While a suit is the standard interview attire in a business environment, if you think it is an informal environment, call before and ask. Regardless, you can never be overdressed if you are wearing a tailored suit.

Question 25. 
A. when
B. why
C. where
D. that

Question 26. 
A. with
B. in
C. on
D. for

Question 27. 
A. happy
B. pleasant
C. disappointed
D. excited

Question 28. 
A. attendances
B. attentions
C. impressions
D. pressures

Question 29. 
A. avoid
B. suggest
C. enjoy
D. mind

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 30 to 34.

Accidents do not occur at random. People eighty-five years of age and older are twenty-two times likely to die accidentally than are children five to nine years old. The risk for native Americans is four times that for Asian-Americans and twice that for white Americans or African-Americans. Males suffer accidents at more than twice the rate of females, in part because they are more prone to risky behavior. Alaskans are more than three times as likely as Rhode Islanders to die in an accident. Texans are twenty-one times more likely than New Jerseyites to die in a natural disaster. Among the one hundred most populous counties, kern County, California (Bakersfield), has an accident fatality rate three times greater than Summit County, Ohio (Akron).

Accidents happens more often to poor people. Those living in poverty receive inferior medical care, are more apt to reside in houses with faulty heating and electrical systems, drive older cars with fewer safety features, and are less likely to use safety belts. People in rural areas have more accidents than city or suburban dwellers because farming is much riskier than working in a factory or office and because emergency medical services are less readily available. These two factors - low income and rural residence - may explain why the south has a higher accident rate than the north.
Question 30. Which of the following is TRUE according to the passage?


A. Children aged five to nine face the greatest accident risk.


B. All people face an equal risk of having an accident.


C. One in every 22 people aged 85 and over will die in an accident.


D. The risk of having an accident is greater among certain groups of people.

Question 31. The word “inferior” in the passage is closest in meaning to ____________.


A. modem
B. low-quality
C. well-equipped
D. unsafe

Question 32. According to the passage, which of the following groups of people in America face the highest risk of having an accident?


A. Native Americans 
B. Asian-Americans 
C. White Americans
D. African-Americans

Question 33. What does the word “that” in the passage refer to?


A. males
B. native Americans
C. the risk
D. Afirican-Americans

Question 34. Which of the following is NOT mentioned as a reason for a higher accident rate among the poor?


A. Little knowledge about safety


B. Inadequate medical services


C. Poor housing and working conditions


D. Use of cars which incorporate fewer safety features

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions from 35 to 42.

In the early 1800s, to reach the jump-off point for the West, a family from the East of the United States could either buy a steamboat passage to Missouri for themselves, their wagons and their livestock or, as happened more often, simply pile everything into a wagon, hitch up a team, and begin their overland trek right in their front yard.

Along the macadamized roads and turnpikes east of the Missouri River, travel was comparatively fast, camping easy, and supplies plentiful. Then, in one river town or another, the neophyte emigrants would pause to lay in provisions. For outfitting purposes, the town of Independence had been preeminent ever since 1827, but the rising momentum of pioneer emigration had produced some rival jump-off points. Westport and Fort Leavenworth flourished a few miles upriver. St. Joseph had sprung up 55 miles to the northwest; in fact, emigrants who went to Missouri by riverboat could save four days on the trail by staying on the paddle wheelers to St. Joe before striking overland.

At whatever jump-off point they chose, the emigrants studied guide books and directions, asked questions of others as green as themselves, and made their final decision about outfitting. They had various, sometimes conflicting, options. For example, either pack animals or two -wheel carts or wagons could be used for the overland crossing. A family man usually chose the wagon. It was the costliest and slowest of the three, but it provided space and shelter for children and for a wife who likely as not was pregnant. Everybody knew that a top-heavy covered wagon might blow over in a prairie wind or be overturned by mountain rocks, that it might mire in river mud or sink to its hubs in desert sand, but maybe if those things happened on this trip, they would happen to someone else. Anyway, most pioneers, with their farm background, were used to wagons.

Question 35. The word “preeminent” in paragraph 2 is closest in meaning to ___________.


A. superior
B. most easily reached
C. oldest
D. closest

Question 36. Which of the cities that served as a jump-off point can be inferred from the passage to be farthest west?


A. Independence 
B. Fort Leavenworth 
C. St. Joseph
D. Westport

Question 37. The expression “green” in paragraph 3 is closest in meaning to _____________.


A. optimistic
B. weary
C. inexperienced
D. frightened

Question 38. All of the following were mentioned in the passage as options for modes of transportation from the Missouri River to the West EXCEPT _______________.


A. a wagon
B. a two-wheel cart 
C. a riverboat
D. a pack animal

Question 39. All of the following features of the covered wagon made it unattractive to the emigrants EXCEPT _______________.


A. its bulk

B. the speed at which it could travel


C. its familiarity and size

D. its cost

Question 40. In paragraph 3, the phrase “those things” refers to ______________.


A. the belongings of the pioneers
B. the problems of wagon travel


C. the types of transportation
D. the overland routes

Question 41. The author implies in the passage that the early emigrants ____________.


A. preferred wagon travel to other types of travel


B. left from the same place in Missouri


C. knew a lot about travel


D. were well stocked with provisions when they left their homes

Question 42. What is the topic of this passage?


A. Important towns

B. Getting started on the trip west


C. Choosing a point of departure
D. The advantages of travelling by wagon

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Question 43. Higher education is very (A) importance to national (B) economies and it is also a source of trained and (C) educated personnel for (D) the whole country.

Question 44. (A) Because his sickness (B) he didn’t (C) take part in the English competition (D) held last Sunday.

Question 45. The (A) science and technology industries (B) have grown up (C) steadily over the (D) last decade.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.
Question 46. I found myself at a loss to understand my closest friend’s words.


A. I understood my closest friend’s words completely.


B. I found my closest friend’s words easy to understand.


C. I lost heart and didn’t understand my closest friend’s words.


D. I found my closest friend’s words quite incomprehensible.

Question 47. They believe a single gunman carried out the attack.


A. The attack’s is believed to have carried out a single gunman.


B. A single gunman is believed to have carried out the attack.


C. It is believed to be carried out the attack by a single gunman.


D. It is believed that the attack has been carried out by a single gunman.

Question 48. My son shows a desire to put aside the status of the school child.


A. The status of the school child makes my son happy.


B. My son is determined to put up with the other school children.


C. My son decides to play down the status of the school child.


D. My son doesn’t want to be a school child any more.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.
Question 49. Most of the classmates couldn’t come. He invited them to the birthday party.


A. Most of the classmates he invited to the birthday party couldn’t come.


B. Most of the classmates he was invited to the birthday party couldn’t come.


C. Most of the classmates that he invited them to the birthday party couldn’t come.


D. Most of the classmates which he invited to the birthday party couldn’t come.

Question 50. You’d better take the keys. It’s possible I’ll come home late.


A. You’d better take the keys as I possibly come home late.


B. You’d better take the keys in case I come home late.


C. I’ll probably come home late so that you’d better take the keys.


D. If I come home late, you’d better take the keys.

ĐỀ THI THỬ THPTQG - SỐ5
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1. 
A. educate
B. eliminate
C. certificate
D. dedicate
Question 2. 
A. wicked
B. watched
C. stopped
D. cooked
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.
Question 3. 
A. pollution
B. disaster
C. volcano
D. cholera

Question 4. 
A. dangerous
B. computer
C. courageous
D. industrial

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 5. When the weather was very hot in summer, sales of bottles of water went __________ the

roof.


A. through
B. to
C. above
D. over

Question 6. The sky was grey and cloudy. __________ , we went to the beach.


A. However
B. In spite of
C. Even though
D. Consequently

Question 7. He left the country __________ arrest if he returned.


A. in fear of
B. under threat of
C. with fear of
D. with threat of

Question 8. We put his success __________ his efforts.


A. up to
B. down to
C. off at
D. up with

Question 9. It is not easy for many civil servants to __________ on their salaries as the inflation

rate is very high.


A. get by
B. turn up
C. wear out
D. run over

Question 10. The teacher __________ her to improve her listening skills.


A. persisted
B. insisted
C. encouraged
D. made

Question 11. I would rather you __________ your phone in the meeting.


A. shouldn’t have used

B. shouldn’t use


C. not to use

D. didn’t use

Question 12. If you __________ less last night, you __________ so bad today.


A. had drunk - would not have felt
B. drank - would not feel


C. had drunk - would not feel
D. would have drunk - would not feel

Question 13. It was difficult to guess what her __________ to the news would be.


A. feelings
B. reaction
C. capital
D. opinion

Question 14. The total cost to renovate the building was $20 million, _________ double the original estimate.


A. mostly
B. most all
C. the most
D. almost

Question 15. The _________ of new technology transformed our lives.


A. interaction
B. advent
C. emergency
D. identity

Question 16. She is a(n) _________ . She finds it difficult to socialize with other students in the class.


A. industrious
B. dynamic
C. reserved
D. sociable

Question 17. Our project was successful _________ its practicality.


A. in terms of
B. with a view to
C. regardless
D. on behalf of

Question 18. Last Sunday was _________ that we took a drive in the country.


A. so beautiful day

B. such a beautiful day


C. so a beautiful day

D. such beautiful day

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
Question 19. The conference was held with a view to laying down rules for the treatment and protection of the wounded and the disaster-stricken.


A. establishing
B. putting down
C. cancelling
D. putting aside

Question 20. Help and supports are rapidly sent to wherever there are victims of catastrophe.

A. sudden great disaster

B. warfare


C. poverty and famine

D. diseases and illnesses

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 21. During the five-decade history the Asian Games have been advancing in all aspects.


A. holding at
B. holding back
C. holding to
D. holding by

Question 22. When you consider all the advantages you’ve gained, I think you’ll admit you had a good run for your money.

A. a lot of loss from your money
B. a lot of benefits from your money


C. a lot of advantages from your money
D. a lot of failures from your money

Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes each of the following exchanges.
Question 23. - “Excuse me! Where’s the parking lot?”

- “_________________”


A. You missed the turn. It’s back that way. 
B. Do you get lost? I do too.


C. You mustn’t park your car here. 
D. Why do you ask me? I don’t know.

Question 24. - John: “I’ve passed my final exam.”

- Tom: “_______________”


A. That’s a good idea. 

B. Good luck.


C. It’s nice of you to say so. 
D. Congratulations!

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 25 to 29.
Different kinds of animals have appeared and disappeared throughout Earth’s history. Some animals go extinct because the climate (25)__________ they live changes. The climate may become wetter or drier. It may become warmer or cooler. If the animals cannot change, or adapt, to the new climate, they die.

Some animals go extinct because they cannot (26)__________ with other animals for food. Some animals go extinct because they are killed by enemies. New kinds of animals are always evolving. Evolving means that the animals are changing (27)__________ from generation to generation. Small differences between parents, children, and grandchildren slowly add up over many, many generations. Eventually, a different kind of animal evolves.

Sometimes many of the animals on Earth go extinct at the (28)__________ time. Scientists call this a mass extinction. Scientists think there (29)__________ at least five mass extinctions in Earth’s history. The last mass extinction happened about 65 million years ago. This mass extinction killed off the dinosaurs.

Question 25. 
A. which
B. where
C. what
D. when

Question 26. 
A. compete
B. find
C. complete
D. exist

Question 27. 
A. suddenly
B. quickly
C. slowly
D. accidentally

Question 28. 
A. different
B. various
C. similar
D. same

Question 29. 
A. will be
B. are
C. have been
D. has been

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 30 to 34.

Books which give instructions on how to do things are very popular in the United States today. Thousands of these How-to books are useful. In fact, there are about four thousand books with titles that begin with the words “How to”. One book may tell you how to earn more money. Another may tell you how to save or spend it and another may explain how to give your money away.

Many How-to books give advice on careers. They tell you how to choose a career and how to succeed in it. If you fail, however, you can buy the book “How to Turn Failure into Success”. If you would like to become very rich, you can buy the book “How to Make a Millionaire”. If you never make any money at all, you may need a book called “How to Live on Nothing”.

One of the most popular types of books is one that helps you with personal problems. If you want to have a better love of life, you can read “How to Succeed in Love every Minute of Your Life”. If you are tired of books on happiness, you may prefer books which give step-by-step instructions on how to redecorate or enlarge a house.

Why have How-to books become so popular? Probably because life has become so complex. Today people have far more free time to use, more choices to make, and more problems to solve. How-to books help people deal with modem life.

Question 30. What is the passage mainly about?


A. How to succeed in love every minute of your life.


B. How to turn failure into success.


C. How to make a millionaire.


D. How-to books.

Question 31. The word “it” in paragraph 2 refers to _____________


A. advice
B. instruction
C. How-to books 
D. career

Question 32. Which of the following is NOT the type of books giving information on careers?


A. “How to Succeed in Love every Minute of Your Life”.


B. “How to Live on Nothing”


C. “How to Make a Millionaire”


D. “How to Turn Failure into Success”

Question 33. The word “step-by-step” in paragraph 3 is closest in meaning to _________


A. little by little
B. gradually
C. slower and slower
D. A and B

Question 34. It can be inferred from the passage that _________


A. Today people are more bored with the modem life.


B. Modem life is more difficult to deal with.


C. Today people have fewer choices to make.


D. Today people are more interested in modem life.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 35 to 42.

Belgium is a very old country, with a fascinating mixture of old customs and modem laws. Belgium weddings may be performed as a civil ceremony or as a religious ceremony.

Traditionally, when a couple in Belgium wishes to announce their marriage, the wedding invitations are printed on two sheets of paper, one from the bride’s family and one sheet from the groom’s family. These wedding invitations symbolize the union of the two families and the partnership of the new union.

An ancient Belgium custom that is designed to unite the two families calls for the bride to stop as she walks up the isle and to hand her mother a single flower. The two then embrace. Then, during the recessional, the bride and groom walk to the groom’s mother and the new bride hands her new mother-in-law a single flower and the two of them embrace, symbolizing the bride’s acceptance of her new mother.

One of the most important and enduring traditions of the Belgium wedding is for the bride to carry a specially embroidered handkerchief that has her name embroidered on it. After the wedding this handkerchief is framed and hung on the wall in a place of honor. When the next female member of the bride’s family is to be wed, the handkerchief is removed from its frame, the new bride’s name is embroidered onto it, and it is passed down. The wedding handkerchief is passed from generation to generation, and is considered an important family heirloom.
During the wedding mass, the bride and the groom are enthroned in two large chairs placed near the altar, symbolizing that on this day and in this place, they are the king and the queen. At the conclusion of the ceremony, the groom slips the wedding ring onto the third finger of his bride’s left hand. The ring, being an endless circle, symbolizes never-ending love, and the third finger of the left hand is believed to hold the vein that travels to the heart, symbolizing love. At the conclusion of the ceremony, the bride and groom share their first kiss as husband and wife. The kiss is considered a symbolic act of sharing each other’s spirit as the couple each breathes in a portion of their new mate’s soul.

The bridesmaids traditionally take up a collection of coins and as the bride and groom exit the church, the bridesmaids toss the coins to the poor outside the church. Giving gifts of money to the poor helps to insure prosperity for the new bride and groom.

Following the wedding the bride and groom are off on their honeymoon. In ancient times the honeymoon, which was celebrated by the drinking of mead, or honey wine, would last 28 days, one complete cycle of the moon. This was to make sure that the bride’s family did not try to steal their daughter back from her new husband.

Question 35. Which of the following could be the best title of this passage?


A. Belgium’s wedding ceremony


B. Belgium’s wedding customs and traditions


C. The bride’s and groom’s traditional activities in their wedding day


D. The differences between an ancient wedding and a modem one in Belgium

Question 36. What does the word “them” in the third paragraph refer to?


A. the bride and her mother
B. the bride and the groom


C. the bride and her mother-in-law
D. the groom and his mother-in-law

Question 37. The following is true about Belgium’s wedding, EXCEPT _____________.


A. The weddings in Belgium are not only a civil event but also a religious one


B. The wedding invitations are the symbol of both the bride’s and the groom’s families


C. Each mother of the couple is given a single flower in their children’s wedding


D. The bride often hugs her mother-in-law before embracing her mother

Question 38. It can be inferred from the passage that the wedding handkerchief _______________.


A. is prepared for the bride by her mother before the wedding


B. is highly appreciated in the home of Belgian people


C. is only replaced by another person in their house


D. is embroidered in most important occasions in Belgium

Question 39. The word “heirloom” in paragraph 4 is closest in meaning to _______________.


A. dowry
B. inheritance
C. representation
D. pride

Question 40. According to paragraph 5, what is CORRECT about the wedding ring?


A. It is wom onto the third finger of the bride’s right hand.


B. The groom wears the ring for his mate at the beginning of the ceremony.


C. The ring represents the boundless love of the couple.


D. The ring is presented by the queen and the king of their country.

Question 41. The word “insure” in the paragraph 6 could be best replaced by _______________.


A. determine
B. indemnify
C. express
D. affirm

Question 42. The author mentioned honeymoon in the past in the last paragraph as a period that _____________.


A. the bride and the groom live far from each other


B. lasts for a fortnight after wedding


C. protects the new bride from her family’s effort to take her back


D. the new couple serves the guests honey wine

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Question 43. Cutural diversity (A) is important because our country, workplaces, and schools

increasingly consist of various (C) culture, racial and ethnic (D) groups.

Question 44. The (A) average salt (B) content of seawater is (C) more than three (D) percents.

Question 45. (A) Have a headache, an upset stomach, and a (B) bad case of sunburn did not

 put me in (D) a good mood for the evening.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.
Question 46. I travel by bus only when I have no alternative.


A. I travel by bus only as a last resort.


B. It’s my only alternative to travel by bus.


C. I resort to travel by bus only when I have no alternative.


D. Travelling by bus is my only alternative.

Question 47. Their dog was so fierce that nobody would visit them.


A. They had a such fierce dog that nobody would visit them.


B. They had so fierce a dog that nobody would visit them.


C. They had a so fierce dog that nobody would visit them.


D. Their dog was too fierce to visit.

Question 48. We must remember what happened in the past so that it will never happen again.


A. If we could remember the past, it would not happen again.


B. Since we all tend to forget what happened in the past, we make the same mistakes again.


C. We couldn’t remember what happened in the past so we did it again.


D. In order not to repeat the past, we should certainly not forget what happened then.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.
Question 49. I don’t like her lifestyle at all. I will go to her wedding party tomorrow morning.


A. Though I will go to her wedding party tomorrow morning, but I don’t like her lifestyle.


B. Though I don’t like her lifestyle at all, but I will go to her wedding party tomorrow morning.


C. Although I don’t like her lifestyle at all, I will go to her wedding party tomorrow morning.


D. In spite of my liking her lifestyle, I will go to her wedding party tomorrow.

Question 50. The car driver in front stopped so suddenly. Therefore, the accident happened.


A. If the car driver in front didn’t stop so suddenly, the accident wouldn’t happen.


B. If the car driver in front hadn’t stopped so suddenly, the accident wouldn’t have happened.


C. If the car driver in front hadn’t stopped so suddenly, the accident would have happened.


D. If the car driver in front had stopped suddenly, the accident would have happened.

